
KENARIS S3 FRAME KIT

PARTS LIST

ITEM PART NUMBER

1 TOP PLATE

2 CAMERA BRACE

3 BOTTOM PLATE

4 ARM

5 ARM BRACE

6 M3 SCREW 10MM

7 M3 SCREW 8MM

8 M3 PRESS-FIT NUT

9 M3 STANDOFF 25MM

10 M3 SCREW 6MM

4

3 8

2
9

1 10

65

7

Scan Here for More Info:

Screw Locations

BOTTOM PLATE

TOP PLATE

M3
6mm

Screws

M3
10mm

Screws M3
8mm

Screws

M3
6mm

Screws

M3
6mm

Screws


